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Abstract:

Some Properties of First-Return Integrals

Zahra Pourghasem Zakelebari

In this dissertation, first we explain the concepts of first-
return recoverability and integralability for a real function
f I — R with respect to a trajectory. Then, having
shown for each x € [0,1], the first-retun integral of f on
[0, ] is a continuous function of x. Then, we show by an
example that the continuity is not necessarily absolute.
Key words:
trajectory,first-return recoverable, first-return integral.
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